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Note: Attempt six questions in all. First question is compulsory 
and carries 20 marks. Attempt five other questions at 
by selecting one question from each unit and each 
question carries 12 marks for regular candidates and 
16 marks for Private candidates.
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Compulsory Question 

( Slfefe VFT )

1. (a) What is dispersion?
W "t?

(b) What does correlation coefficient indicate? 

wrV ipw w nfen t?

(c) Define Matrix.
3TI^ fenrfel ^t’l

(d) What do you mean by independent variables?

fef 3JTWI ^RT t?

(e) What is systematic sampling?
^RfeR W t?

(f) Describe Non-parametric tests.

(g) What is Homogeneity?

«H^q<n w t?

(h) What do you mean by population variance?
^FRTW f^FHT 3 W 3TfmTR t?

(i) Which are third degree equation? 

fen 3 t?
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(j) What is meant by Unweighted Price Index Numbers? 
^ + l’=h W 3Tf«nJFT t?

UNIT-I

2. (a) What is correlation? Describe the methods to measure 
this.

(b) The median and mode of the following frequency 
distribution are Rs. 335 and Rs. 340 respectively.

Find the missing frequencies when the total number 
of workers is 230.

Wages (Rs.) Frequency
0-100 4

100-200 16
200-300 60
300-400 -
400-500 -
500-600 -
600-700 4

(75) fW<rrflsld 3H°[fa TO TOVT:
335 3fk 340 fl

31|e|Rl
0-100 4

100-200 16
200-300 60
300-400 -
400-500 -
500-600 -
600-700 4
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W 230 tl

3. (a) What is Linear Regression?
(b) Calculate the coefficient of rank correlation from 

the following data :

X: 48 33 40 9 16 16 65 24 16 57
Y: 13 13 24 06 15 04 20 09 06 19

yfahHH W t?

X: 48 33 40 9 16 16 65 24 16 57
Y: 13 13 24 06 15 04 20 09 06 19

UNIT-II 
(sM-n)

4. Given the following data :
Xj = Honour Point, X2 = General intelligence, 
X3 = Average number of hours spent in study per week.

Xj = 18.5, crj = 11.2, rl2 = 0.60

X2 = 100.6, cr2 = 15.8, r13 = 0.32

X3 = 24.0, cr3 = 6.0, r23 = - 0.35
Determine the regression equation of X1 on X2 and X3
PiHrdfeld izi f^T W t:

Xj = 3W W, X2 = X3 = Ufa W
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Xj = 18.5, <Tj = 11.2, r12 = 0.60

X2 = 100.6, cr2 = 15.8, r13 = 0.32

X3 = 24.0, <t3 = 6.0, r,, = -0.35

x2 3jk x3 x, uhUiui wt

5. Explain the relationship between the measures of multiple 
correlation and measures of partial correlation. Give any 
example.

ww* wtf sfk siffw 

w ctf oqjw ^k’l RRi

UNIT-ID 
(W#-ni)

6. (a) Describe Stratified Random Sampling.
(b) A rifle range competition scores one hit in every 

four shots on the average. Assuming that the 
binomial distribution is applicable, if he has four 
shots on a particular day. What is the probability, 
(i) that he will get exactly one hit;
(ii) that he will get atleast one hit;

(^) ^«t»d 41^ cf^’i

(33) k' 3fkRH W W

ftz KfaT tl W fgqg kiwi t,

W tkYkf fgH k Tlfe t’l TTRRHT

W fl
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(i) ftz fft^ft;

(ii) W 1>H IfH fft^ftt;

7. (a) A test of the breaking strengths of two different 
types of cables was conducted using samples of N x 
= N2 = 100 pieces of each type of cable :

Cable-I Cable-II

Xj =1925 X2 = 1905

= 40 ct2 = 30

Do the data provide sufficient evidence to indicate 
a difference between the mean breaking strengths 
of the two cables? Use 0.01 level of significance, 

(b) What is Rank Sum Test?
lhf?f N} = N2 = 100

H wftl 1R^ it 1UR

1ft 1ft m ift^PT f^TT W «IT:

=b«lQl-I ^d-ll

Xj = 1925 X2 = 1905

ctj = 40 <t2 = 30

HI izi 11 1ft RT«T fttlft 1ft Ilfcr itl 

3RR 1ft W Ufa W WT liTcU t?

0.01 w in Uft’l 

(H)tl7 ifr cRTT t?
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UNIT-IV

(W^-iv)
8. (a) Ten individuals are chosen at random from a normal 

population and heights are found to be in inches 
63, 63, 66, 67, 68, 69, 70, 70, 71 and 71. In the 
light of these data discuss the suggestion that the 
mean height in population is 66 inches.

(b) What are general features of Chi square test?

(T) WF1 'jHWII 3 TH «lfW 3

t 63,63,66, 67, 68, 69,

70, 70, 71 sfk 71 Wt tl 3Tf=F^f =£

VTRT TH 7$^ HT TTf SR Wil

66 TT tl

Tit TTRFT W t?

9. A survey of 320 families with 5 children each yielded 
the following distribution :

No. of Girls : 0 1 2 3 4 5

No. of Boys : 5 4 3 2 1 0

No. of families; 12 40 88 110 56 14

Is this result consitent with the hypothesis that male and 
female births are equally probable.

5 efi^ 320 qPmT $ AHRiPsId

fwi HIRT 13TT:
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UNIT-V

(^5#-V)

10. (a) An enquiry into the budget of middle class families 
in a city gave the following information :

Expenses

on

Prices (Rs.)

(1978)

Prices (Rs.)

(1979)

Food 35% 150 145

Rent 15% 30 30

Clothing 20% 75 65

Fuel 10% 25 23

Mise. 20% 40 45

What changes in the cost of living figures of 1979 
as compared with 1978 are seen?

(b) What are the components of Time Series?

(^)t^ WT 4’ RWT <Fffa Rfwf W’Ef 3

faRfafisTfl fMt:

9697/3000/777/836 8



1978 3 1979 ?WT 4

w ^sFt 5rt factf t?

©55 (*♦) 

(1978) (1979)

35% 150 145

PhlNI 15% 30 30

20% 75 65

10% 25 23

20% 40 45

(75) 5Hcl #Wt ^5? W t?

11. (a) Fit the curve y = aebx to the following data, 'e' 
being napierian base 2.7183.

x : 0 2 4

y: 5.012 10 31.620

(b) What do you mean by Time Reversal Test?

(7F)W y = aebx faH izi 'e'

WrflTH 37TW 2.7183 tl

x : 0 2 4

y : 5.012 10 31.620

(75)7FT5 tffisFR vft^T 7$ 3TTW W 3TfW5 t?
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